PO Box 8036, Wisconsin Rapids, WI 54495-8036 Phone: (800) 338-4204 | Fax: (877) 280-7642

Federal I.D. 39-1559474 www.renaissance.com

Reference ID: 330574

Created: 05/21/2018

Santa Rosa County School District - 61620

5086 Canal St

Milton, FL 32570-2257

Contact: Patti McKnight - (850) 983-5000 Email: mcknightp@santarosa.k12.fl.us

Quote Summary	
School Count: 33	
Renaissance Products & Services Total	\$330,402.85
Applied Discounts	\$(36,756.33)
Shipping and Processing	\$0.00
Sales Tax	\$0.00
Grand Total	USD \$293,646.52

This quote includes: Renaissance Star 360.

To receive applicable discounts, all orders included on this quote must be received at the same time.

By signing below, you

- agree that this quote, any other quotes issued to you during the Subscription Period and your use of the
 Applications, the Hosting Services and Services are subject to the Renaissance Terms of Service and License
 located at https://doc.renlearn.com/KMNet/R003981304GH3CB5.pdf which are incorporated herein by reference;
- · consent to the Terms of Service and License; and
- consent to the collection, use, and disclosure of the personal information of children under the age of 13 as
 discussed in the applicable Application Privacy Policy located at https://www.renaissance.com/privacy-policy/.

To accept this offer and place an order, please sign and return this quote along with your organization's required purchase order with reference to quote number 1903563. An invoice will be sent upon receipt of this executed quote and your purchase order. Payment is due net 30 days from the invoice date. If your organization does not require a purchase order, please contact our order services team at 877-444-3172 for assistance with placing your order.

Renaissance Learning, Inc.	Santa Rosa County School District - 61620
Mu Shih	Ву:
Name: Al Thurber	Name:
Title: VP - Corporate Controller	Title:
Date: 05/21/2018	Date:

Mail: PO Box 8036, Wisconsin Rapids, WI 54495-8036

Fax: (877)280-7642

Email: electronicorders@renaissance.com

If changes are necessary, or additional information is required, please contact your account executive Jonathan Pounds at (800)897-6349, Thank You.

Quote # 1903563

PO Box 8036, Wisconsin Rapids, WI 54495-8036 Phone: (800) 338-4204 | Fax: (877) 280-7642

Quote Details					
Santa Rosa County School District - 61620					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Data Integration Services					
Data Integration Maintenance Fee Level 4 (8001-20,000 Students) Alignment	07/01/2018 - 07/31/2018	1	\$280.00	\$280.00	
Data Integration Maintenance Fee Level 4 (8001-20,000 Students)	08/01/2018 - 07/31/2019	1	\$3,500.00	\$3,500.00	
	Santa Rosa County School D	istrict Subtotal		\$3,780.00	
	Арј	olied Discounts		\$0.00	
	Santa Rosa County Scho	ol District Total		\$3,780.00	

Avalon Middle School - 1000302					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Star 360 Desktop Upgrade One-Time Fee		1	\$599.00	\$599.00	
Renaissance Applications					
Star 360 Subscription	08/01/2018 - 07/31/2019	810	\$13.60	\$11,016.00	
Hosting Services					
Annual All Product Renaissance Place Hosting Fee	08/01/2018 - 07/31/2019	1	\$635.00	\$635.00	
Professional Services					
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00	
Avalon Middle School Subtotal				\$12,250.00	
Applied Discounts			\$(1,920.92)		
Avalon Middle School Total				\$10,329.08	

Bagdad Elementary School - 61324				
Products & Services	Subscription Period	Quantity	Unit Price	Total
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00
Renaissance Applications				
Star 360 Subscription	08/01/2018 - 07/31/2019	415	\$13.60	\$5,644.00
Hosting Services				
Annual All Product Renaissance Place Hosting Fee Renewal	08/01/2018 - 07/31/2019	1	\$635.00	\$635.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00

PO Box 8036, Wisconsin Rapids, WI 54495-8036 Phone: (800) 338-4204 | Fax: (877) 280-7642

Federal I.D. 39-1559474 www.renaissance.com

sal \$6,279.00	Bagdad Elementary School Subtotal
ts \$(677.28)	Applied Discounts
tal \$5,601.72	Bagdad Elementary School Total

Bennett C Russell Elementary School - 2322404					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00	
Renaissance Applications					
Star 360 Subscription	08/01/2018 - 07/31/2019	765	\$13.60	\$10,404.00	
Hosting Services					
Annual All Product Renaissance Place Hosting Fee Renewal	08/01/2018 - 07/31/2019	1	\$635.00	\$635.00	
Professional Services					
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00	
Be	nnett C Russell Elementary S	chool Subtotal		\$11,039.00	
	Арр	lied Discounts		\$(1,248.48)	
	Bennett C Russell Elementar	y School Total		\$9,790.52	

Berryhill Elementary School - 61604				
Products & Services	Subscription Period	Quantity	Unit Price	Total
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00
Renaissance Applications				
Star 360 Subscription Alignment **	10/01/2018 - 07/31/2019	830	\$11.40	\$9,462.00
Hosting Services				
Renaissance Place Hosting Alignment **	10/01/2018 - 07/31/2019	1	\$533.40	\$533.40
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
Berryhill Elementary School Subtotal				\$9,995.40
Applied Discounts			\$(1,135.44)	
	Berryhill Elementar	y School Total		\$8,859.96

Central School - 61624				
Products & Services	Subscription Period	Quantity	Unit Price	Total

Quote # 1903563

PO Box 8036, Wisconsin Rapids, WI 54495-8036 Phone: (800) 338-4204 | Fax: (877) 280-7642

Federal I.D. 39-1559474 www.renaissance.com

Renaissance Applications				
Star 360 Subscription Alignment **	04/01/2019 - 07/31/2019	414	\$4.50	\$1,863.00
Hosting Services				
Renaissance Place Hosting Alignment **	04/01/2019 - 07/31/2019	1	\$209.55	\$209.55
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
Central School Subtotal				\$2,072.55
Applied Discounts				\$(223.56)
Central School Total			\$1,848.99	

Chumuckla Elementary School - 61540					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00	
Renaissance Applications					
Star 360 Subscription Alignment **	03/01/2019 - 07/31/2019	330	\$5.70	\$1,881.00	
Hosting Services					
Renaissance Place Hosting Alignment **	03/01/2019 - 07/31/2019	1	\$266.70	\$266.70	
Professional Services					
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00	
	Chumuckla Elementary S	School Subtotal		\$2,147.70	
	Арј	olied Discounts		\$(225.72)	
	Chumuckla Elementa	ry School Total		\$1,921.98	

East Milton Elementary School - 61708					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Renaissance Applications		·			
Star 360 Subscription Renewal	08/01/2018 - 07/31/2019	725	\$13.60	\$9,860.00	
Hosting Services					
Renaissance Place Hosting Alignment **	06/01/2018 - 07/31/2018	1	\$101.60	\$101.60	
Annual All Product Renaissance Place Hosting Fee Renewal	08/01/2018 - 07/31/2019	1	\$635.00	\$635.00	
Professional Services					
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00	
			<u> </u>		

East Milton Elementary School Subtotal

\$10,596.60

PO Box 8036, Wisconsin Rapids, WI 54495-8036 Phone: (800) 338-4204 | Fax: (877) 280-7642

Federal I.D. 39-1559474 www.renaissance.com

Applied Discounts	\$(1,183.20)
East Milton Elementary School Total	\$9,413.40

Gulf Breeze Elem	entary School - 61527			
Products & Services	Subscription Period	Quantity	Unit Price	Total
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00
Renaissance Applications				
Star 360 Subscription	08/01/2018 - 07/31/2019	715	\$13.60	\$9,724.00
Hosting Services				
Annual All Product Renaissance Place Hosting Fee Renewal	08/01/2018 - 07/31/2019	1	\$635.00	\$635.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Gulf Breeze Elementary Se	chool Subtotal		\$10,359.00
	Арр	lied Discounts		\$(1,166.88)
	Gulf Breeze Elementar	y School Total		\$9,192.12

Gulf Breeze H	ligh School - 61534			
Products & Services	Subscription Period	Quantity	Unit Price	Total
Star 360 One-Time Fee		1	\$1,599.00	\$1,599.00
Renaissance Applications				
Star 360 Subscription	08/01/2018 - 07/31/2019	820	\$13.60	\$11,152.00
Hosting Services				
Annual All Product Renaissance Place Hosting Fee	08/01/2018 - 07/31/2019	1	\$635.00	\$635.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Gulf Breeze High S	chool Subtotal		\$13,386.00
	Арр	lied Discounts		\$(1,338.24)
	Gulf Breeze Hig	h School Total		\$12,047.76

Gulf Breeze Middle School - 61530				
Products & Services	Subscription Period	Quantity	Unit Price	Total
Star 360 One-Time Fee		1	\$1,599.00	\$1,599.00

Quote # 1903563

PO Box 8036, Wisconsin Rapids, WI 54495-8036 Phone: (800) 338-4204 | Fax: (877) 280-7642

Renaissance Applications				
Star 360 Subscription	08/01/2018 - 07/31/2019	950	\$13.60	\$12,920.00
Hosting Services				
Annual All Product Renaissance Place Hosting Fee	08/01/2018 - 07/31/2019	1	\$635.00	\$635.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Gulf Breeze Middle So	chool Subtotal		\$15,154.00
	Арр	lied Discounts		\$(1,550.40)
	Gulf Breeze Middl	e School Total		\$13,603.60

Hobbs Middl	e School - 61598			
Products & Services	Subscription Period	Quantity	Unit Price	Total
Star 360 Desktop Upgrade One-Time Fee		1	\$599.00	\$599.00
Renaissance Applications				
Star 360 Subscription	08/01/2018 - 07/31/2019	750	\$13.60	\$10,200.00
Hosting Services				
Annual All Product Renaissance Place Hosting Fee	08/01/2018 - 07/31/2019	1	\$635.00	\$635.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Hobbs Middle S	School Subtotal		\$11,434.00
	Арј	olied Discounts		\$(1,823.00)
	Hobbs Midd	le School Total		\$9,611.00

Holley Navarre Intermediate School - 61552				
Products & Services	Subscription Period	Quantity	Unit Price	Total
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00
Renaissance Applications				
Star 360 Subscription	08/01/2018 - 07/31/2019	920	\$13.60	\$12,512.00
Hosting Services				
Annual All Product Renaissance Place Hosting Fee Renewal	08/01/2018 - 07/31/2019	1	\$635.00	\$635.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Holley Navarre Intermediate Sc	hool Subtotal		\$13,147.00

Quote # 1903563

PO Box 8036, Wisconsin Rapids, WI 54495-8036 Phone: (800) 338-4204 | Fax: (877) 280-7642

Applied Discounts	\$(1,501.44)
Holley Navarre Intermediate School Total	\$11,645.56

Holley-Navarre M	Middle School - 61562			
Products & Services	Subscription Period	Quantity	Unit Price	Total
Renaissance Applications		:		
Star 360 Subscription	08/01/2018 - 07/31/2019	930	\$13.60	\$12,648.00
Hosting Services				
Annual All Product Renaissance Place Hosting Fee Renewal	08/01/2018 - 07/31/2019	1	\$635.00	\$635.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Holley-Navarre Middle So	hool Subtotal		\$13,283.00
	Appl	ied Discounts		\$(1,517.76)
	Holley-Navarre Middle	e School Total		\$11,765.24

Holley-Navarre Primary School - 2203773					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00	
Renaissance Applications					
Star 360 Subscription	08/01/2018 - 07/31/2019	885	\$13.60	\$12,036.00	
Hosting Services					
Annual All Product Renaissance Place Hosting Fee Renewal	08/01/2018 - 07/31/2019	1	\$635.00	\$635.00	
Professional Services					
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00	
	Holley-Navarre Primary So	chool Subtotal		\$12,671.00	
	Арр	lied Discounts		\$(1,444.32)	
	Holley-Navarre Primar	y School Total		\$11,226.68	

Jay Elementary School - 61544				
Products & Services	Subscription Period	Quantity	Unit Price	Total
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00
Renaissance Applications				

Quote # 1903563

PO Box 8036, Wisconsin Rapids, WI 54495-8036 Phone: (800) 338-4204 | Fax: (877) 280-7642

Jay Elementary Sc Appli	1 hool Subtotal ed Discounts	\$0.00	\$0.00 \$7,009.80 \$(758.88)
Jay Elementary Sc	1 hool Subtotal	\$0.00	*****
	1	\$0.00	\$0.00
/01/2018 - 07/31/2019	1	\$635.00	\$635.00
/01/2018 - 07/31/2018	1	\$50.80	\$50.80
/01/2018 - 07/31/2019	465	\$13.60	\$6,324.00
-/	/01/2018 - 07/31/2018	/01/2018 - 07/31/2018 1	/01/2018 - 07/31/2018 1 \$50.80

Jay High School - 61548						
Products & Services	Subscription Period	Quantity	Unit Price	Total		
Star 360 One-Time Fee		1	\$1,599.00	\$1,599.00		
Renaissance Applications						
Star 360 Subscription	08/01/2018 - 07/31/2019	269	\$13.60	\$3,658.40		
Hosting Services						
Annual All Product Renaissance Place Hosting Fee	08/01/2018 - 07/31/2019	1	\$635.00	\$635.00		
Professional Services						
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00		
Jay High School Subtotal			\$5,892.40			
Applied Discounts			\$(439.01)			
	Jay Hig	h School Total		\$5,453.39		

King Middle School - 61593					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00	
Renaissance Applications					
Star 360 Subscription Alignment **	10/01/2018 - 07/31/2019	690	\$11.40	\$7,866.00	
Hosting Services					
Renaissance Place Hosting Alignment **	10/01/2018 - 07/31/2019	1	\$533.40	\$533.40	
Professional Services					
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00	
	King Middle So	hool Subtotal		\$8,399.40	

Quote # 1903563

PO Box 8036, Wisconsin Rapids, WI 54495-8036 Phone: (800) 338-4204 | Fax: (877) 280-7642

Applied Discounts	\$(943.92)
King Middle School Total	\$7,455.48

Learning Academy Of Santa Rosa - 1389208					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00	
Renaissance Applications					
Star 360 Subscription	08/01/2018 - 07/31/2019	58	\$13.60	\$788.80	
Hosting Services					
Annual All Product Renaissance Place Hosting Fee Renewal	08/01/2018 - 07/31/2019	1	\$635.00	\$635.00	
Professional Services					
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00	
	Learning Academy Of Santa	Rosa Subtotal		\$1,423.80	
	Арј	olied Discounts		\$(94.66)	
	Learning Academy Of Sa	anta Rosa Total		\$1,329.14	

Milton High School - 61586						
Products & Services	Subscription Period	Quantity	Unit Price	Total		
Renaissance Applications						
Star 360 Subscription	08/01/2018 - 07/31/2019	817	\$13.60	\$11,111.20		
Hosting Services						
Annual All Product Renaissance Place Hosting Fee Renewal	08/01/2018 - 07/31/2019	1	\$635.00	\$635.00		
Professional Services						
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00		
Milton High School Subtotal			\$11,746.20			
	Appl	ied Discounts		\$(1,333.34)		
	Milton Higl	h School Total		\$10,412.86		

Navarre High School - 61565				
Products & Services	Subscription Period	Quantity	Unit Price	Total
Star 360 One-Time Fee		1	\$1,599.00	\$1,599.00
Renaissance Applications		·		

Quote # 1903563

PO Box 8036, Wisconsin Rapids, WI 54495-8036 Phone: (800) 338-4204 | Fax: (877) 280-7642

Applied Discounts Navarre High School Total			\$(2,382.72) \$19,707.28		
Navarre High School Subtotal			\$22,090.00		
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00	
Professional Services					
Annual All Product Renaissance Place Hosting Fee	08/01/2018 - 07/31/2019	1	\$635.00	\$635.00	
Hosting Services					
Star 360 Subscription	08/01/2018 - 07/31/2019	1,460	\$13.60	\$19,856.00	

Oriole Beach Elementary School - 61518						
Products & Services	Subscription Period	Quantity	Unit Price	Total		
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00		
Renaissance Applications						
Star 360 Subscription Alignment **	11/01/2018 - 07/31/2019	830	\$10.20	\$8,466.00		
Hosting Services						
Renaissance Place Hosting Alignment **	11/01/2018 - 07/31/2019	1	\$476.25	\$476.25		
Professional Services						
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00		
Oriole Beach Elementary School Subtotal			\$8,942.25			
	Applied Discounts			\$(1,015.92)		
	Oriole Beach Elementar	y School Total		\$7,926.33		

Pace Senior High School - 61643						
Products & Services	Subscription Period	Quantity	Unit Price	Total		
Star 360 One-Time Fee		1	\$1,599.00	\$1,599.00		
Renaissance Applications						
Star 360 Subscription	08/01/2018 - 07/31/2019	1,136	\$13.60	\$15,449.60		
Hosting Services						
Annual All Product Renaissance Place Hosting Fee	08/01/2018 - 07/31/2019	1	\$635.00	\$635.00		
Professional Services						
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00		
	Pace Senior High S	chool Subtotal		\$17,683.60		
	Арр	lied Discounts		\$(1,853.95)		

PO Box 8036, Wisconsin Rapids, WI 54495-8036 Phone: (800) 338-4204 | Fax: (877) 280-7642

Federal I.D. 39-1559474 www.renaissance.com

Pace Senior High School Total	\$15,829.65
-------------------------------	-------------

Pea Ridge Elementary School - 61653						
Products & Services	Subscription Period	Quantity	Unit Price	Total		
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00		
Renaissance Applications						
Star 360 Subscription Alignment **	01/01/2019 - 07/31/2019	765	\$7.90	\$6,043.50		
Hosting Services						
Renaissance Place Hosting Alignment **	01/01/2019 - 07/31/2019	1	\$368.30	\$368.30		
Professional Services			<u> </u>			
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00		
·	Pea Ridge Elementary S	School Subtotal	'	\$6,411.80		
	Ар	olied Discounts		\$(725.22)		
	Pea Ridge Elementa	ry School Total		\$5,686.58		

S S Dixon Intermediate School - 61640						
Products & Services	Subscription Period	Quantity	Unit Price	Total		
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00		
Renaissance Applications						
Star 360 Subscription Alignment **	11/01/2018 - 07/31/2019	840	\$10.20	\$8,568.00		
Hosting Services						
Renaissance Place Hosting Alignment **	11/01/2018 - 07/31/2019	1	\$476.25	\$476.25		
Professional Services						
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00		
S S Dixon Intermediate School Subtotal			\$9,044.25			
	Applied Discounts			\$(1,028.16)		
	S S Dixon Intermediat	te School Total		\$8,016.09		

S. S. Dixon Primary School - 61642				
Products & Services	Subscription Period	Quantity	Unit Price	Total
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00
Renaissance Applications				

Quote # 1903563

PO Box 8036, Wisconsin Rapids, WI 54495-8036 Phone: (800) 338-4204 | Fax: (877) 280-7642

	S. S. Dixon Primary School Total			\$9,329.20
	Anni	ied Discounts		\$(1,192.50)
	S. S. Dixon Primary So	hool Subtotal		\$10,521.70
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
Professional Services				
Renaissance Place Hosting Alignment **	09/01/2018 - 07/31/2019	1	\$584.20	\$584.20
Hosting Services				
Star 360 Subscription Alignment **	09/01/2018 - 07/31/2019	795	\$12.50	\$9,937.50

Santa Rosa Co Adult High School - 61611					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Star 360 One-Time Fee		1	\$1,599.00	\$1,599.00	
Renaissance Applications					
Star 360 Subscription	08/01/2018 - 07/31/2019	36	\$13.60	\$489.60	
Hosting Services					
Annual All Product Renaissance Place Hosting Fee	08/01/2018 - 07/31/2019	1	\$635.00	\$635.00	
Professional Services					
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00	
	Santa Rosa Co Adult High S	chool Subtotal		\$2,723.60	
	Арр	lied Discounts		\$(58.75)	
	Santa Rosa Co Adult Hig	h School Total		\$2,664.85	

Santa Rosa Online - 7000984					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Star 360 One-Time Fee		1	\$1,599.00	\$1,599.00	
Renaissance Applications					
Star 360 Subscription	08/01/2018 - 07/31/2019	193	\$13.60	\$2,624.80	
Hosting Services					
Annual All Product Renaissance Place Hosting Fee	08/01/2018 - 07/31/2019	1	\$635.00	\$635.00	
Professional Services					
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00	
	Santa Rosa O	nline Subtotal		\$4,858.80	
	Арр	lied Discounts		\$(314.98)	

PO Box 8036, Wisconsin Rapids, WI 54495-8036 Phone: (800) 338-4204 | Fax: (877) 280-7642

Federal I.D. 39-1559474 www.renaissance.com

Santa Rosa Online Total	\$4,543.82
-------------------------	------------

Sims Middle School - 931084				
Products & Services	Subscription Period	Quantity	Unit Price	Total
Star 360 One-Time Fee		1	\$1,599.00	\$1,599.00
Renaissance Applications				
Star 360 Subscription	08/01/2018 - 07/31/2019	1,040	\$13.60	\$14,144.00
Hosting Services				
Annual All Product Renaissance Place Hosting Fee	08/01/2018 - 07/31/2019	1	\$635.00	\$635.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Sims Middle S	School Subtotal		\$16,378.00
	Ap	plied Discounts		\$(1,697.28)
	Sims Midd	lle School Total		\$14,680.72

Students Achieving Independent Learning - 6990899					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Star 360 One-Time Fee		1	\$1,599.00	\$1,599.00	
Renaissance Applications					
Star 360 Subscription	08/01/2018 - 07/31/2019	28	\$13.60	\$380.80	
Hosting Services					
Annual All Product Renaissance Place Hosting Fee	08/01/2018 - 07/31/2019	1	\$635.00	\$635.00	
Professional Services		·			
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00	
Students Achieving Independent Learning Subtotal			\$2,614.80		
	Арр	lied Discounts		\$(45.70)	
Stu	dents Achieving Independent	Learning Total		\$2,569.10	

W H Rhodes Elementary School - 61584				
Products & Services	Subscription Period	Quantity	Unit Price	Total
Renaissance Applications				
Star 360 Subscription Alignment **	11/01/2018 - 07/31/2019	890	\$10.20	\$9,078.00

Quote # 1903563

PO Box 8036, Wisconsin Rapids, WI 54495-8036 Phone: (800) 338-4204 | Fax: (877) 280-7642

Hosting Services				
Renaissance Place Hosting Alignment **	11/01/2018 - 07/31/2019	1	\$476.25	\$476.25
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	W H Rhodes Elementary So	hool Subtotal		\$9,554.25
	Appl	ied Discounts		\$(1,089.36)
	W H Rhodes Elementary	y School Total		\$8,464.89

West Navarre Intermediate School - 981063				
Products & Services	Subscription Period	Quantity	Unit Price	Total
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00
Renaissance Applications				
Star 360 Subscription Alignment **	11/01/2018 - 07/31/2019	915	\$10.20	\$9,333.00
Hosting Services				
Renaissance Place Hosting Alignment **	11/01/2018 - 07/31/2019	1	\$476.25	\$476.25
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	West Navarre Intermediate S	chool Subtotal		\$9,809.25
	Арр	lied Discounts		\$(1,119.96)
	West Navarre Intermedia	te School Total		\$8,689.29

West Navarre Primary School - 61557					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00	
Renaissance Applications					
Star 360 Subscription Alignment **	09/01/2018 - 07/31/2019	885	\$12.50	\$11,062.50	
Hosting Services		<u>'</u>			
Renaissance Place Hosting Alignment **	09/01/2018 - 07/31/2019	1	\$584.20	\$584.20	
Professional Services		<u>'</u>			
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00	
	West Navarre Primary S	chool Subtotal		\$11,646.70	
	Арр	lied Discounts		\$(1,327.50)	
	West Navarre Prima	ry School Total		\$10,319.20	

Quote # 1903563

PO Box 8036, Wisconsin Rapids, WI 54495-8036 Phone: (800) 338-4204 | Fax: (877) 280-7642

Federal I.D. 39-1559474 www.renaissance.com

Woodlawn Beach Middle School - 1150193					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Star 360 Desktop Upgrade One-Time Fee		1	\$599.00	\$599.00	
Renaissance Applications					
Star 360 Subscription	08/01/2018 - 07/31/2019	1,090	\$13.60	\$14,824.00	
Hosting Services					
Annual All Product Renaissance Place Hosting Fee	08/01/2018 - 07/31/2019	1	\$635.00	\$635.00	
Professional Services					
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00	
	Woodlawn Beach Middle S	chool Subtotal		\$16,058.00	
	Арр	lied Discounts		\$(2,377.88)	
	Woodlawn Beach Midd	le School Total		\$13,680.12	

This quote is valid for 30 days. All quotes and orders are subject to availability of merchandise. Professional development expires one year from purchase date. Alterations to this quote will not be honored without Renaissance approval. Please note: Any pricing or discount indicated is subject to change with alterations to the quote. Tax has been estimated and is subject to change without notice. Unless you provide Renaissance with a valid and correct tax exemption certificate applicable to your purchase of product and the product ship-to location, you are responsible for sales and other taxes associated with this order.

United States government and agency transactions into Arizona: The Tax or AZ-TPT item(s) listed on this quote and subsequent invoice(s) is a charge to recover the cost of the Arizona Transaction Privilege Tax ('TPT'). The incidence of the TPT is on Renaissance Learning for the privilege of conducting business in the State of Arizona. Since the tax is not directly imposed on the United States, the constitutional immunity of the United States does not apply.

Hawaii residents only: Orders shipped to Hawaii residents will be subject to the 4.166% (4.712% O'ahu Is.) Hawaii General Excise tax. United States government and agency transactions into Hawaii: The Tax or General Excise Tax item(s) listed on this quote and subsequent invoice(s) is a charge to recover the cost of the Hawaii General Excise Tax. The incidence of the General Excise Tax is on Renaissance Learning for the privilege of conducting business in the State of Hawaii. Since the tax is not directly imposed on the United States, the constitutional immunity of the United States does not apply.

New Mexico residents only: Orders shipped to New Mexico residents will be subject to the 5.125% (Location Code: 88-888) Gross Receipts tax. United States government and agency transactions into New Mexico: The Tax or Gross Receipts Tax item(s) listed on this quote and subsequent invoice(s) is a charge to recover the cost of the New Mexico Gross Receipts Tax. The incidence of the Gross Receipts Tax is on Renaissance Learning for the privilege of conducting business in the State of New Mexico. Since the tax is not directly imposed on the United States, the constitutional immunity of the United States does not apply.

Students can become their most amazing selves — only when teachers truly shine. Renaissance amplifies teachers' effectiveness in the classroom — transforming data into actionable insights to improve learning outcomes. Remember, we're here to ensure your successful implementation. Please allow 30-90 days for installation and set-up.

©Copyright 2018 Renaissance Learning, Inc. All rights reserved.

All logos, designs, and brand names for Renaissance's products and services, including but not limited to Accelerated Math, Accelerated Reader, Accelerated Reader 360, AccelScan, AccelScan, AccelScan, English in a Flash, MathFacts in a Flash, myON, myON Reader, myON News, Renaissance, Renaissance Flow 360, Renaissance Learning, Renaissance Place, Renaissance-U, Renaissance Smart Start, Star, Star 360, Star Custom, Star Early Literacy, Star Early Literacy Spanish, Star Math, Star Math Spanish, Star Reading, Star Rea

^{**}This item is pro-rated for less than full year subscription period.